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Question - The average age of 18 people 1s 40 years. After including 3 more
persons, the average age 1s increased by 5 years. Find the average age of 3
new persons?

T - 18 SRl i ST 3T 40 99 81 3 N ATHAT skl IAMHA Hid 6 o1a, e
AT T 5 a9 A Iheg TNl &1 3 TC AfRAT I STHT 3T 1 hITSRI?

@5“”77#/@/2% o A= 225

l . -—720 — S
ZI “\Z XL{$ A. 70years ? 2,@0\'

"o, = 3145 B. 80 years
"3 LC—T5

~ Yls_ 1 —775 years

=05 D. 85 years

E. None of these




30 Question 1- There are three job location 1n a city. The number of
vacancy 1n first two city 1s 40% and 60% of the third city. If the
60 76 -4 0%:—/ {60 difference between the vacancies in first and second city is 1200. Then
QOZ - (60 find total number of vacancy.

. T |- Teh IR H A9 Aiehdl TIH 8 U8t af el § TRAAT ah! S8t diel
/= 60 TR T 40% ST AT =TT 60% Bl Afe Teet SR ght et 7 Rkt
OO/ = GOX|00sf= 3T ST 1200 Bl 1 TLfeh shi et e F1 @ﬁlﬁl

= 6000 (1) |\ THIHTT = 24004 3600+ Go o 2000

o B- 12000

I= HO“A %600 = 200 C. 38800

T *G;?L{og —— D. 48800
/ y€06() E. None of these
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30 Question 2- Find the wrong number 1n the given series
T4 2- &1 715 YT | TTeld SEAT F1d shifsr
18, 30, 42, 54, 66,72

3X6=18

5X6=730

TXE=1p A. 30

JX¢ = S B. 42

Ix¢= ¢c C. 54

BXQ‘\ D. 66
fad E 7
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30 Question 3- Find the wrong number 1n the given series

T4 3- 1 715 YT | TTeld SEAT F1d hifst

12,21, 29, 39, 51,‘129
2.21,20,39, 51,68,

19 / )

_A—68
9+ 5% 59 B. 129
IS+¢™ S C. 21
D. 51
E. 39
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Question 4- Find the wrong number 1n the given series
T 4- 31 715 HEAT H Teld ST J1d ehifsr
2,5,12,24,36(61

243= 9

OF =12
”‘,‘B:ZL, A. S
[T41q_ B. 12
=3¢ C. 24
“234&3;51 D. 36
“E- 61
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Question 6- A man deposited his money in two parts at 8% per annum

and other at 6% per annum simple interest. If the time 1s same and he got

30
Rs @interest for the sum of Rs(1,50000 then find the ratio in which

R /F’MX \ﬁ}ﬁhe divided his money
P97 Question 6- T SAIfch o TR a1 a1 T 8% i o S gEL AT H 6%
= Fo IR WTLTCOT SATST ST SHTAT ) A T FAI & ST IH 80,000 T T
TR ok TAIT 10,500 &9 3T SATST FeTdT &, 1 a8 ST 1t shifor SeH

p I b P e s
RS L ~Bri:l
\ S/ — C.4:7
/? D.7:9

| \‘ E. None of these
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Question 7- A shopkeeper marks the price of his goods Rs 8,000 more

than the cost price. If he allows 8% discount instead of 10% then he
will gain Rs 1200 more. Find the cost price.

30 T4 7- Teh ThMEN 3T HIe ol ShiHd 56 7T U 8,000 &3 3fersh 3fehd
ERGIRS Zlﬁa‘s’@% h dwlq@‘@@ZéﬂT%?ﬁ?@@E@ﬂmm
Q 29 = %12 O%ﬁTrrl S T 1A shiTorIl A.Rs 48,000
- (P= GOOm»&oQQ B.Rs 51,000
/=T Coq =¥ 5300 _CRs 52,000
007 (1 )~ Gooos © D.Rs 40,000
:\F oo I E. None of these
G
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Question 8- What will come 1n place of question mark(?)

T 8- T ToI§ (2) o T I T STT?
8x12+ (82 —-6%)x(3°-23=¢

30
@r@(%i’) JE+28x19
- L\ A.538
[QH+7X|3] B. 638
= H[Q%,;g C.324
— Qé&/ —F. None of these
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Question 9- What will come 1n place of question mark(?)

T 9- T ToIg (2) o T 9 4T STTTI?

%//13«
3?,/%\\ +6><7+\/50><\/200=?

e - et + Srx o 7
J

A.100

— 28+ Jog —B128

P - g C.228
D.328

E. None of these
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Question 10- What will come 1n place of question mark(?)

I 9- T ToIg (2) o T 9L 4T STTI?

/15?1—6+/1/I><0.1+25+0.5><10— =7
= I + @xj@ _ 3
0% A. 109
= Sl-73 B.229
268 C.511
N D. 509
E-Xone of these
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Question 11- What will come 1n place of ?
T 1 1- 38k TAT GT T STTUT?

2 Lo
40% 0f(50%)of #360 +280 = (2--5)X 50
4800 3 50% 3T 40% +280 = (7+5)%50

J6p +286 = jl/xg«"?

A.121

_ B. 134

LX\ ?G‘{*Z& C.144

l \\JZ_LT D.154
\E-None of these

https://t.me/mathbytarunsirmepl 9




Question 12- What will come 1n place of ?
57 12- $Heh T YL FAT STTTT?

2>
o 45 5400 + 72 X 25 + 20% + 10%0/300 =?
30 A
X_——X257L1hm+_ 10
s

b A. 1105

— ‘25 72305

209 D.3305

D EEE—

E. None of these

https://t.me/mathbytarunsirmepl 9




https://t.me/mathbytarunsirmepl 9




Question 13- What will come 1n place of ?
57 13- $Heh T UL FAT STTET?

80%v900 + 50%0f V4096 = 14 +?
V(900 3T 80% + V4096 T 50% =14+

|
—% = L4+ 32 N
B. 14
% = 5tH C.0.091
\D(l D.0.007
X< §-)c N - None of these

I
https://t.me/mathbytarunsirmepl 9




Question 14- A train is running with speed 40 m/sec takes 44

seconds to cross a platform and it also takes 20 seconds to pass a

110 = LT —I-LP person travelling in same direction with speed 10 m/sec. Find

36 Ly the length of platform.
Teh o 40 HITUHRE 3h1 7T ¥ I Tl € S Teh WIHIH ahl IR i

Hb—(@—_LL T 44 Uohe oidl & 3T TOT {91 o M o T8 =fh @l 10 Hiey/ashs
20 HITAE IR T Y 20 UhE T T AT 8 TIECHH ohl TS J1d

LTZGO@ IS A.1000 m
HLQ@\\GQWLP B.1150 m
LP\\HGGM “€71160 m
Re— D.1200 m
E. None of these
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Question 15- 14.28% of 3500 + 42.84% of 2100 + 12.5% of 400= ?

TF 15- 3500 k1 (14:28% A 2100 <h1(42.84% H 400 W =7

- _)dgg@ T Zx_§£§+ )(
—+ 3
= 456 A.1200
— B. 1400
C. 1500
D. 1440
E—None of these




® Question 16- 20 men can complete a work 1n 14 days and 10 boys take

14 days to complete the work. How many days will 6 men and 10 boys

take to complete the work?

STH 16- 20 T&Y Teh 13 o1 14 AT H T o Eohel & I 10 TSk 39 1Y
1 90 T H 14 T& 1 @0 Ad 81 6 TeY R 10 ek H1H I T FA |

fehd Ta= ol? A.10 days
& Qoﬂmx)/é LIQBXM [Ys B.12.5 days
m lﬁ C. 13.7 days

o fwak = XIXY | 2 D14 days

A = \3
S — X\H -E"None of these
L PR <lo.
B 5 QVH\GB\ M ﬂ)ﬁ

0
\
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